string kernel

- similarities between two documents

3 =alphabet, 3 "=set of all strings of length n

for a given index sequence i = (Isi<ip<..<i, <|s))

define s(i) := s(21)s(i2)....s(i,) and L,(i) = i, — H+1>r

example s -~ fast food j = (2,3,9) = s(i) = asd, (i) =9-2+1=8§

U< A< 1 parameter, define [,,( s)| a map with | 32" | components

[@a()lu= Y AL®

izs(l)=u
example [P;(Nasdaq)],.g = \* | [P3(1a88 das)]u.y = 2\°
the kernel induced
kn(s,8) = 3" [®n(8)]u[®n(t)]u = D )R LU

ueE" wEY" (1)) :s(l)=t(J)=u

k=37 cuky, linear combination of kernels on different substring-lengths

tree kernel

e encode a tree as a string by traversing
in preorder and parenthesing

e substrings correspond to subset trees

¢ tag can be computed in loglinear time

e then use a string kernel
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